EMERGENCY  MEDICINE. FIRST AID Final module control data – tests
1. Which of the following is your primary goal during airway management?
a. Ensure clear, unobstructed breathing. 
b. Ensure that CPR is effective.
c. Provide a means of drug administration.
d. Provide optimal patient ventilation.*

2. Which of the following is a structure of the upper airway?
a. Alveoli 
b. Bronchioles
c. Carina
d. Pharynx*

3. Although the palatine tonsils are part of the lymphatic system, they affect the airway because:
a. They cause asthma to develop in children.
b. They cause the trachea to close when we swallow.
c. They secrete saliva coating the cilia.
d. When inflamed, they can impair breathing causing respiratory distress.*

4. The narrowest part of the adult upper airway is known as the:
a. Epiglottis 
b. Glottic opening*
c. Nasopharynx
d. Vallecula

5. Compared to the left mainstem bronchus, the right mainstem bronchus is:
a. At a more gradual angle *
b. Made of thicker membrane
c. More angled from the trachea
d. More narrow
6. Which of the following respiratory structures is the location of oxygen and carbon dioxide exchange?
a. Alveoli*
b. Carina 
c. Hilum
d. Vallecula
7. Most of the oxygen in blood is carried:
a. As carboxyhemoglobin 
b. Attached to hemoglobin
c. Attached to leukocytes
d. Dissolved in plasma
8. Hypoxemia is defined as 
a. Inadequate blood oxygen levels *
b. Inadequate hemoglobin levels
c. Inadequate tissue oxygen levels
d. Inadequate tissue perfusion

9. After inserting an oropharyngeal airway, you notice that the patient is not ventilating as easily. Which of the following may be the cause of this finding?
a. The bag-mask device is malfunctioning. 
b. The oropharyngeal airway is too small and is causing the tongue to obstruct the airway.*
c. The patient has an intact gag reflex.
d. The posterior airway was traumatized, and edema has formed.
10. The nasopharyngeal airway should be measured:
a. From the corner of the mouth to the earlobe 
b. From the tip of the nose to the chin
c. From the tip of the nose to the corner of the mouth
d. From the tip of the nose to the tragus of the ear*
11. Oropharyngeal airways are designed to:
a. Allow for better visualization during endotracheal intubation 
b. Prevent the tongue from obstructing the airway*
c. Provide a guide for suction catheters
d. Push the tongue into the oropharynx
12. Which of the following is an advantage of the oral airway?
a. A good head position is no longer needed during ventilation. 
b. Adequate mask seal is no longer necessary during ventilation.
c. The lower airway is protected from aspiration during ventilation.
d. The tongue will not obstruct the airway during ventilation.*
13. After ventilating a patient's lungs by using a bag-mask device, you notice that the patient's abdomen has enlarged because the patient's stomach has filled with air. Which of the following complications should you anticipate?
a. Belching noxious gases 
b. Decreasing blood pressure
c. Increasing heart rate
d. Vomiting and aspiration*
14.  Hypoxia is defined as:
a. Inadequate blood oxygen levels 
b. Inadequate hemoglobin levels
c. Inadequate tissue oxygen levels*
d. Inadequate tissue perfusion
15. Which of the following is a complication of mouth-to-mouth ventilation?
a. Exposure to a communicable disease carried by the patient*
b. Gastric collapse because of the inadequate pressure
c. Hypoventilation of the paramedic performing the procedure
d. Oversaturating the patient with excessive oxygen
16. You are ventilating the lungs of an adult patient. Which of the following is an appropriate indicator of adequate ventilation?
a. A gentle chest rise*
b. A rapid chest rise
c. No chest rise 
d. Stomach distention
17. The most reliable indication that adequate tidal volumes are being delivered during artificial ventilation is:
a. Adequate chest rise is observed*
b. The oxygen saturation improves 
c. The patient's color improves
d. The stomach inflates slightly

18. You are inserting a nasopharyngeal airway and are meeting resistance during the insertion. Which of the following should be your next step?
a. Increase the insertion pressure until the airway is seated. 
b. Remove the airway, and use an oropharyngeal airway.
c. Remove the airway, relubricate it, and insert the airway in the other nostril.*
d. Tape the airway in place, and insert a second airway into the other nostril.

19. Threatening complication of airway obstruction is:
A. respiratory failure and hypoxia; *
B.  heart failure and vomiting;
C.  internal bleeding;
D.  hypertensive crisis;
E.  acute renal failure.
20. Nasopharyngeal air guide we insert to a person:
A. with preserved consciousness;
B, with damage of the mouth;
C. with damage of the  throat;
D. with clenched jaw;
E. all of the above . *

21. Complete  airway obstruction:
A. a victim is able to breathe and talk, snore or strained coughing, hands clutched at his throat;
B. the signs and symptoms of  breathlessness;
C. severe coughing with expectoration;
D. no air movement present; * 
E.  all answers are correct.

22. Nasal airway obstruction occurs in case of:
A.  bacterial and virus infections;
B .  drug rhinitis;
C.   nasal trauma;
D.  a foreign objects  inside;
E.  all of the above. *
23. Safar maneuver  is:
A. endotracheal intubation;
B . using of an Ambu bag;
C.  airway suction;
D. temporary stop of  bleeding from the nose;
E. opening mouth of the victim. *
24. Respiratory arrest is determined by the followings symptoms

A. Pale skin color and nasal mucosa;
B . Absence of respiratory motions of thorax;
C.  Absence of respiratory motions of  epigastrium area 
D. Absence of air motion on expiration from respiratory tracts* 


	25. Partial airway obstruction:
A. stridor, cough, self posturing if patient is conscious; *
B. the victim is unable to speak or breathe;
C. hands clutched at his throat, cyanosis;
D. the victim does not respond and is not breathing . The air is not entering the lungs ;
E.  all answers are correct.


	26. Having pulled a victim out from water to the shore, before starting reanimation you need:

	A. To clean oral cavity*

	B. To unbutton a belt

	C. To turn a person down and wait till the water pours from respiratory tracts

	D. To wrap with warm clothes in order to avoid supercooling

	E. To find out papillary response to light


27. A bruise is defined as bleeding under the skin

a. True *

b. False

28. Shock can be caused by:

a. A significant loss of blood

 b. A significant loss of body fluids

 c. Blood vessels that lose their ability to regulate blood flow

 d. All of the above*
29. What are some of the signs and symptoms of shock?

A Cold, pale sweaty skin. Rapid breathing 

B Anxiety, restlessness and confusion 

C Drowsiness and possible unconsciousness 

D All of the above *

30. What is the best position for a conscious patient suffering from shock? 

A Sitting up 

B In the recovery position 

C Standing up

D In a position of comfort, ideally lying down. *

31. What is the correct method when caring for an amputated body part?

A Place the amputated part directly in ice 

B Place the amputated part directly in chilled water

C Wrap the amputated part in a piece of clean material and seal in a plastic bag then place the bag in cool water and add ice if possible.*

D Place the amputated part in a refrigerator 

32. If you are accidentally injured by a needle (needle stick injury). You need to: 

A Wash the area thoroughly with soap and water (a mild antiseptic is also recommended) 

B Apply a clean, preferably sterile adhesive dressing to the area 

C Obtain advice from a doctor as soon as possible *

D All of the above 

33. An employee is holding his arm and you notice a piece of metal embedded. You need to: 

A Apply pressure bandage on the object *

B Build up padding around the object 

C Use tweezers to remove the object 

D Flush the wound with water and bandage

34. Where do you position the knot in the end of the bandages of an emergency bandage?
A. Always on top of the bandage

B. Crossed over the wound

C. Clearly away from the wound*

35. If applied pressure does not stop the bleeding, you should: 

a. Apply a tourniquet immediately 

b. Apply pressure at a pressure point between the wound and the heart. *

c. Apply pressure at a pressure point between the wound and closest extremity 

d. Remove all blood soaked dressings, re-bandage and elevate.

36. Most bleeding will stop all by itself within minutes. 

a. True*

b. False

37. All of the following signs of bleeding except:

A) Bruises

B) Pain *

C) Rapid and weak pulse

	D) Decreased level of consciousness
	

	
	


38. Veins are blood vessels that generally carry blood? 

A. to all parts of the body 

B. to the heart* 

C. away from the heart 

D. all the above

39. Arteries are?

A. very small blood vessels that carry blood away from the heart*

B. large blood vessels that generally carry blood away from the heart

C. large blood vessels that carry blood to the heart 

D. blood vessels that carry blood to the heart

40. Capillary bleeding is?

A. slow and flows in a steady stream

B. dark red and flows in a steady stream

C. bright red and "spurts" from the wound

D. slow and "oozes" from the wound*

41. Venous bleeding is?

A. red and flows in a steady stream

B. slow and "oozes" from the wound

C. bright red and "spurts" from the wound

D. slow and flows in a steady stream*

42. Arterial bleeding is?

A. slow and flows in a steady stream

B. dark red and flows in a steady stream

C. slow and "oozes" from the wound

D. bright red and "spurts" from the wound*

43. The first and most effective method to control bleeding is?

A indirect pressure 

B elevation 

C tourniquet 

D direct pressure*


44. To control bleeding, elevation should be used in conjunction with?

A indirect pressure 

B tourniquet 

C direct pressure* 

D none of the above
45. Indirect pressure is used to control bleeding from the

A capillaries 

B veins 

C arteries* 

D all of the above


46. Applying indirect pressure to which of the following pressure points can cause cardiac arrest?

A subclavian 

B carotid* 

C femoral 

D brachial
47. When discussing bleeding, indirect pressure is used in addition to?

A elevation 

B tourniquet 

C direct pressure 

D both 1 and 3*


48. The pressure point located above the elbow on the inside part of the arm is?

A femoral 

B brachial* 

C subclavian 

D carotid
49. The presssure point that controls severe bleeding of the thigh and lower leg is the?

A subclavian 

B femoral* 

C carotid 

D brachial
50. What method is used ONLY AS A LAST RESORT to control severe bleeding?

A tourniquet* 

B indirect pressure 

C direct pressure 

D elevation
51. The most common sign of internal bleeding?

A puncture wound 

B edema 

C contusion* 

D epistaxis
52. A sign of internal bleeding includes?

A slow pulse 
B shallow breathing 
C polydipsia* 
D wet dry skin
53. The signs of shock include?

A skin hot and dry, pupils dilated, pulse rapid and weak 

B skin moist and clammy, pupils dilated, pulse rapid and weak* 

C skin moist and clammy, pupils constricted, pulse slow and strong 

D skin hot and dry, pupils constricted, pulse slow and strong
54. Shock that is caused by a decreased amount of blood in the body is?

A psychogenic 

B anaphylactic 

C hemorrhagic* 

D neurogenic


55. Shock that is caused by an abnormal enlargement of the blood vessels is called?

A neurogenic* 

B psychogenic 

C anaphylactic 

D hypovolemic
56. Shock that occurs when an individual is exposed to a sensitive substance is?

A hypovolemic 

B neuorgenic 

C psychogenic 

D anaphylactic*
57. The causative agent (s) of anaphylactic shock is/are?

A medications 

B bee stings 

C Food 

D all the above*
58. The casualty in shock should be placed?

A in a sitting position 

B on their back* 

C on their side 

D on their stomach
59. What is another name for a bruise?

A erythema 

B edema 

C ecchymosis 

D contusion*
60. When there is extensive soft tissue damage, blood and fluid collect under the skin causing?

A ecchymosis 

B edema 

C contusion* 

D erythema
61. Severe blunt injury with extensive soft tissue damage and pooling with large amounts of blood below the skin is called?

A erythema 

B edema 

C hematoma* 

D ecchymosis

62. What type of wound causes the skin to be rubbed or scraped off?

A puncture 

B abrasion* 

C avulsion 

D incision
63. Injury that normally requires a tourniquet to control bleeding is called a/an?

A amputation* 

B avulsion 

C puncture 

D abrasion
64. Which of the following wounds can EASILY become infected?

A avulsion 

B abrasion 

C incision 

D puncture*
65. An injury in which the skin is torn completely away from the body is?

A amputation 

B abrasion* 

C puncture 

D avulsion
66. What should be done with parts of the body that have been torn away?

A cleaned and trimmed around the rough edges 

B incinerated 

C rinsed, wrapped in dry sterile gauze 

D rinsed, wrapped in moist sterile gauze*
67. What type of wound has torn, ragged, and irregular edges?

A puncture 

B laceration* 

C incisions 

D avulsion
68. First aid treatment for all wounds consist of?

A controlling the flow of blood 

B treating for shock 

C preventing infection 

D all the above*
69. When providing first aid to a casualty with multiple injuries, what is the order of treatment?

A treat life threatening injuries first* 

B the order of treatment is not important as long as all injuries are treated 

C treat all minor injuries
70. Which type of fracture breaks the bone into several fragments?


A)
complete


B)
impacted


C)
comminuted*


D)
spiral

71. The presence of air within the chest cavity, but outside the lung, is called:

A. frail chest

B. pneumothorax*

C. hemothorax

D. oxygen incompatibility

72. An open fracture is a fracture that -

A. Results in multiple pieces of bone 

B. Occurs when a broken bone pierces through the skin*

C. Ruptures a blood vessel 

D. Damages a nerve

73. A swelling is usually present in cases of fractures -

A. True *

B. False

74. A cast is used in a fracture -

A. To keep the bones in position while the fracture heals *

B. To keep the fracture site warm 

C. Both of the above 

D. None of the above

75. An injury caused by the collision of an object with the body in which the object

does not enter the body is called a(n):

A. blunt trauma*

B. penetrating trauma

C. internal injury

D. closed injury

76. Which type of bone fracture occurs as an incomplete break in the bone?


A)
greenstick*


B)
oblique


C)
compound


D)
simple

77. The outer covering of each bone, made from fibrous connective tissue, is called the ________________.


A)
epiphysis


B)
diaphysis


C)
articular cartilage


D)
periosteum*

78. 90% of penetrating trauma deaths result from penetration of the following:

A. lower abdominal quadrants

B. thorax

C. head, thorax, abdomen*

splenas, cranial vault, mediastinum

79. A patient could lose up to _________ ml of blood if they have a fractured pelvis and bilateral femur fractures:

A. 4000 ml

B. 5000 ml*

C. 3000 ml

2000 ml

80. The very first step to aid a patient who is not breathing is to:

A. clear the mouth

B. apply positive ventilation

C. open the airway*

D. administer oxygen

81. The most distinctive sign of a frail chest is:

A. paradoxical chest wall movement*

B. severe pain on inspiration

C. a widening pulse pressure

D. extreme hyperinflation of the chest

82. Solid organs include all of the following EXCEPT the:

A. Stomach*

B. spleen

C. kidneys

D. liver

83. The mediastinal shift associated with tension pneumothorax results in:

A. both ventilatory and cardiovascular compromise*

B. worsening of thoracis bleeding

C. cardiovascular compromise

ventilatory compromise

84. When sections of bone are crushed and fragmented, it is called:

A. a transverse fracture

B. a comminuted fracture*

C. an impacted fracture

D. a greenstick fracture

85. Fractures of the pelvis that involve the ring are often associated with blood lost of:

A. 250 mL

B. 500 mL

C. 1000 mL

more than 2000 mL*

86. Which areas of the spine are most susceptible to injury?

A) cervical and sacral

B) thoracic and thoracic

C) cervical and lumbar*

D) cervical and coccyx

87. The components of the central nervous system are the

A) brain and spinal cord*

B) arteries and veins

C) muscles and tendons

D) cranium and vertebrae

88. Applying an improperly sized rigid cervical collar might result in hyperextend or  hyperflex the neck

A. True *

B. False

89. The problem caused when the sac surrounding the heart fills with fluid is called:

A. cerebral vascular accident

B. metabolic acidosis

C. cardiac rupture

D. pericardial tamponade*

90. Which bone would contain significant amounts of red bone marrow in an adult?


A)
femur


B)
sternum*


C)
humerus


D)
tibia

91. Bone fragments, blood clots, vomit or broken teeth are all potential

A) causes for shock

B) contraindications for a non rebreather mask

C) indications for full immobilization

D) airway obstructions*

92. The ______________ of a typical vertebra projects posteriorly, and is thickest and most blunt in appearance in lumbar vertebrae.

A)
spinous process*

B)
transverse process

C)
superior articulating process

D)
lamina

93. A fracture is:
A. A partial break in the continuity of a bone. 

B. A break in the continuity of a bone and ligament. 

C. Any break in the continuity of a bone.* 

D. A break in the continuity of a bone and tendon.
94. Tenderness anywhere along the vertebrae may indicate a possible

A) head injury

B) spine injury*

C) abdominal injury

D) kidney injury

95. Your patient has fallen from a horse and has a fractured lower leg. Since the broken bone has torn through the skin, this fracture is called:

A) closed

B) open*

C) simple

D) spinal

96. An important reason to splint a closed painful, swollen, deformed injury is to:

A) cover any external injuries

B) prevent it from becoming an open injury*

C) allow the patient to move the injured extremity without pain

D) make transporting the patient easier and more comfortable

97. General rules of splinting include

A) attempting to push protruding bones back into place

B) splinting of all injuries individually prior to transport

C) not using extra padding, as this may decrease the effectiveness of the splint

D) checking for pulse, motor function, and sensation before and after splinting*

98. If you have applied a splint properly, it will immobilize the

A) injury site, only

B) adjacent joints and bone ends*

C) entire extremity

D) injury site and one joint below

99. Your first priority in treating a patient with a swollen and deformed extremity is:

A) opening and maintaining the airway

B) splinting the swollen, deformed extremities

C) applying direct pressure to open injuries

D) assessing circulation in injured extremities.*

100. Bones are classified by the following shapes: 

A. Long bones, short bones, flat bones, irregular bones.* 

B. Semi circular bones, short bones, flat bones, irregular bones. 

C. Long bones, rectangular bones, flat bones, irregular bones. 

D. Long bones, short bones, crescent bones, irregular bones.
101. To properly apply a pressure dressing and bandage to an open wound it is important that you:

A) apply a tourniquet to control bleeding

B) replace any dressings that become blood-soaked

C) apply an antiseptic solution to the wound

D) expose the entire wound, cutting away clothing as needed*

102. A last sign of tension pneumothorax is:

A. shifting of the trachea toward the affected side

B. shifting of the trachea away from the affected side*

C. severe dyspnea

none of the above

103. You should open the airway of a trauma patient by using the

A) jaw-thrust method*

B) jaw-thrust, head-tilt method

C) head-tilt, chin-lift method

D) head-tilt, neck-lift method

104. A fracture usually heals in

A. A few hours 

B. A few days

C. Several weeks to months*

D. Several years

105. In estimating BSA of a burn, each upper extremity in an adult represents what

percentage of the total body area?

A. 7 percent 

B. 27 percent 
C. 18 percent 

D. 9 percent*
106. The three layers of the skin are the

A. outer dermis, dermis, and subcutaneous tissue.

B. endodermis, dermis, and muscle tissue.

C. mid-dermis, dermis, and subcutaneous tissue.

D. epidermis, dermis, and subcutaneous tissue.*

107. The innermost layer of the skin is the

A. endodermis. 

B. subcutaneous layer.* 

C. epidermis.

D. dermis.
108. Anyone exposed to smoke from a fire may have _____________ burns.

A. Thermal*
B. scald

C. contact

D. radiation

109. An example of a superficial burn would be a(n)

A. severe scalding. 

B. eschar. 

C. thermal flame burn.

D. sunburn.*

110. One method that the EMT can use to estimate the body surface area damaged by a burn is the

A. rule of nines*. 

B. BSC rule. 

C. rule of sixes.

D. plantar system.

111. All of the following are important factors to consider in determining burn severity except

A. percentage of body surface area involved.

B. location of the burn.

C. patient age and preexisting medical conditions.

D. ambient environmental temperature.*

112. A burn that encircles a body area such as the chest, an arm, or a leg is called

A. full thickness. C. immersional.

B. circumferential*. D. severe.

113. When determining the BSA involved in a burn, the EMT should remember that the palm of the patient’s hand is equal to about what percentage of total body area?

A. 2 percent 
B. 3 percent 

C. 1 percent*

D. 1⁄2 percent
114. Burns are classified according to

A. location of the injury. 

B. depth of the injury*. 

C. type of heat involved.

D. amount of heat involved.
115. __________________ can develop with alarming speed in burn patients, especially in infants and children.

A. Laryngeal edema*
B. A pulmonary injury

C. An inhalation burn

D. Bronchial edema

116.  The most important treatment for a patient who has sustained a chemical burn to the eyes is

A. rapid application of dry, sterile dressings to both eyes.

B. application of gauze pads soaked with saline.

C. copious irrigation with water.*

D. provision of oxygen via nonrebreather mask.

117. A burn in which the epidermis is burned through and the dermis is damaged is known as a _____ burn.

A. superficial 

B. partial-thickness* 

C. full-thickness 

D. third-degree

118. Absence of pain in a patient with a severe burn is most commonly associated with a _____ burn.

A. first-degree 
B. second-degree 

C. third-degree*

D. Superficial
119. After listening to lung sounds, you hear ________________. This may be a sign of impending upper airway compromise.

A. wheezing

B. Stridor*
C. rhonchi

D. rales
120. In managing a burn correctly, an EMT may take all of the following steps except

A. apply dry, sterile dressings. 

B. apply ointments or sprays*. 

C. keep the patient warm.

D. keep the burn site clean.

121. A partial-thickness (second-degree) burn will appear

A. white to cherry red*. 

B. dark brown or black. 

C. charred.

D. pink.

122. When the EMT is dealing with the victim of an electrical burn, the primary concern should be
A. patient care. 

B. personal safety*. 

C. rapid AED use.

D. bystander history.
123. When administering emergency medical care to a burn patient, clothing that has adhered to a burned area should be

A. covered with an antiseptic ointment.

B. covered with a dry, sterile dressing.

C. carefully removed from the burned skin.

D. left in place after cutting around the adhered area.*

124. When dealing with chemical burns, the EMT should remember that dry chemicals should be

A. brushed away before irrigating.*

B. irrigated without delay.

C. removed with a damp sterile gauze pad.

D. irrigated with neutralizing vinegar.

125. In cases of chemical burns to the eyes, the EMT should flood the eyes with

A. vinegar. 
B. baking soda and water. 

C. water.*

D. hydrogen peroxide solution.
126. The most serious problem usually associated with electrical shocks is

A. internal bleeding. C. hypothermia.

B. hypertension. D. respiratory and/or cardiac arrest.*

127. _______________ airway damage is more often associated with the inhalation of superheated gases.

A. Upper airway*
B. Lower airway 
C. Upper and lower airway

D. None of these

128. In the lower airway, ______________ and _______________ may result from heat inhalation.

A. laryngospasm, pulmonary damage

B. pulmonary damage, bronchospasm*
C. laryngospasm, bronchospasm

D. mild, severe damage
 

129. True or false? If your patient greets you with a hoarse voice and a chief complaint of “trouble breathing,” your general impression should be that there is probably nothing wrong with this patient.

A. True

B. False*
130. The first use of atomic weapons were by the country Japan.

A. True*

B. False

131. Too much  radiation exposure can cause this in humans

a. Illness*

b. Special abilities

c. Both A & C

d. None of the above

132. 
The "nuclear club" consists of the following countries:

A. US, Egypt, Russia, France, Israel, and Brazil

B. US, Russia, China, France, UK, Israel, North Korea*

C. US, Russia, China, France, UK, Israel, North and South Korea

D. US, Russia, China, France, UK, Israel, Japan, North and South Korea

133. The greatest immediate danger in the hot zone to a nuclear blast, non strategic, is what?

A. Temperature*

B. Shrapnel/Collapsing Buildings, etc.

C. Radioactive Fallout

D Nuclear Winter 
134. Activated charcoal is useful in treating poisoning.
A. True *
B. False
 135. The only case of large-scale open air dissemination of chemical agents is the Aum Shinrikiyo cult’s use of sarin nerve gas in Tokyo subway cars.

A) True *

B)  False
136. Which type of radioactive decay produces light, fast moving particles?
A. Alpha *

B. Gamma
C. Beta
D. None of the above
137. What is your first priority at a call involving the possibility of a nerve agent or organophosphate poisoning? 
A. To identify the substance that was involved.
B. To quickly decontaminate the victims with whatever is available
C. Personal safety and that of your crew. *

D. To provide airway, breathing and circulatory support to the victims.
138. Pinpoint pupils (of the eyes) is observed in the following poisoning :
A. Belladonna poisoning 

B. Morphine poisoning *

C. Heavy metal poisoning 

D. All of the above
139. An electromagnetic pulse, or EMP, is an phenominon caused from a nuclear detonation.  An EMP "fries" all known electronics.  Therefore, do not expect eletronics to work.

A. True/*

B. False

140. Miosis or bilateral pupil constriction is a sign of some medical conditions including: 
A. femur fracture, head injury, and nerve agent exposure.
 B. suspected stroke, drug overdose, and nerve agent exposure. *

C. nerve agent exposure, cervical spine fracture, and myocardial infarction. 
D. drug overdose, myocardial infarction, suspected suicide.
141. What are the two categories of radiation?

A. Gamma rays and microwaves

B. Ionizing and non-ionizing*

C. Irradiated and time dependent

D. Beta and alpha 
142. Organophosphate and carbamate insecticides work by disrupting an insect's:
     A.  Digestive system      
      b.  Nervous system*

     c.  Respiratory system    
      D.  Endocrine system

143. A poison produces its effect only when taken orally. 
True 

False*

144. If a patient was exposed to a chemical agent and is experiencing miosis, shortness of breath, muscle twitching and increased rhinorrhea these may be signs of: 
A. biological exposure
B. radiation
C. chlorine gas 
D. nerve agent exposure*

145. X-rays, radiotherapy, and radioactive tracers are used for

A. Medical Procedures*

B. Pasteurization

C. Cooking

D. None of the above

146. A relatively easy way for terrorists to disperse radioisotopes or chemical or biological agents would be through the ventilation system of a building.
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True* 

B)[image: image2.png]


False
147. A urine test is useful in determining which poison has been taken by the patient.
A. True *

B. False
148. Poisoning may be caused by : 
A. Heavy Metals 

B. Chemicals 

C. Drugs 

D. All of the above*

149. Triage  means  following, except one:

a) method of sorting patients

b) determines priorities for  treatment and evacuation

c) laboratory diagnostics*
d) principles stay the same

150. This  are the general rules of triage. Find out mistake:

A. Priority – life over limb 

B. Form  over  function*
C. Greatest good for greatest number

D. Treat mechanical life-threatening dangers (ABCs)

E. Triage is an ongoing process (re-triage)

151. In Civilian Triage there are  4 categories, except one:

A. immediate

B. delayed

C. expectant

D. minimal

E. morgue*
152. Eye injuries belong to category:
A. immediate

B. delayed*
C. expectant

D. minimal

E. morgue

153. Massive external bleeding belongs to category:

A. immediate*
B. delayed

C. expectant

D. minimal

E. morgue

154. What is the difference between multiply and mass casualty?

A. In necessity of medical compromise

B. In number of victims

C. AlIn volume of medical assistance

D. In necessity of medical sorting (triage)

E. l, but D*
156. In Military triage there are  4 categories, except one:

a) immediate

b) delayed

c) expectant

d) minimal

e) morgue*
157. Fractures of minor bones, fingers, toes  belong to category:

f) immediate

g) delayed

h) expectant

i) minimal*
j) morgue

158. 2nd-3rd degree burns not involving fase/ neck/ groin  belong to category:

k) immediate

l) delayed*
m) expectant

n) minimal

o) morgue

159. How many groups are formed during medical sorting (triage) in casualties, and what are they:

p)  red

q) red and yellow

r) red, yellow, green

s) red, yellow, green and black*
t) None of the above

160. 8th months girl was hospitalized to the  reanimation department. Objectively: consciousness and breathing are absent; papillary response to light is negative, peripheral pulse on main vessels is not determined. What reanimation extra measure must be applied first of all in this situation? 

A External cardiac massage

B Liberation of respiratory tracts*

C Ventilation of lungs

D Intravenous introduction of adrenalin

E Defibrillation of heart

161. 52-year-old woman was hospitalized to the department of first aid with an epileptic For artificial respiration, a doctor found out that head throwing of patient is almost impossible because of little mobility of cervical spine. What additional actions must be done under these circumstances?

A. To lift the lower jaw of patient up and open his mouth, at the moderate deviation of head*

B. To turn the throwing head of patient aside and open to his mouth

C. To put a pillow under patient’s head 

D. To make an additional strain for the maximal throwing of patient’s head

E. To put a pillow or fold towel under patient’s shoulders 

162. A 27-year-old male patient has been found apneic behind a nightclub. Bystanders suggest that the patient has overdosed on heroin. You are attempting to initially ventilate the patient's lungs using a bag-mask device, but the patient's color fails to improve and there is difficulty squeezing the bag. A common reason for this includes:
a. Failure to properly tilt the head and lift the chin*
b. Forcing the tongue into the throat with high-pressure breathing 
c. Overly squeezing the bag and forcing too much air into the patient
d. Pressing too tightly with the bag-mask device on the patient's face

163. Your patient is 32-year-old construction worker who fell from a ladder. In assessing the patient, you notice totally irregular breathing that varies in rate and depth. Occasionally, you notice periods of apnea. Based on the patient's recent history and the current breathing pattern, what do you suspect?
a. Acute asthma 
b. Diabetic ketoacidosis
c. Emphysema
d. Severe head injury*

164. A 34-year-old male patient was eating at a restaurant when, according to bystanders, he began to gasp and was unable to cough. The patient then collapsed and began turning blue. Upon arrival, which of the following is your first course of action?
a. Begin CPR.
b. Open the airway.*
c. Perform a finger sweep of the oropharynx. 
d. Provide supplemental oxygen.
165. A 16-year-old male was standing on the top of a car when the car suddenly moved. The teen fell from the car and struck his head rendering him unresponsive. The best method for manually opening the teenager's airway is the:
a. Head tilt/chin life maneuver 
b. Head tilt/neck lift maneuver
c. Jaw-thrust maneuver*
d. Oropharyngeal airway
166. A 30-year-old male patient is found unresponsive in his apartment after a night of partying. The man is exhibiting loud, sonorous respirations suggesting a partial airway obstruction. There is no suggestion of accidental trauma and nothing to indicate a possible neck injury. The best way to manually open the man's airway is to:
a. Use the head tilt/chin life maneuver*
b. Use the jaw-thrust maneuver
c. Open the mouth by tugging on the mandible
d. Open the mouth through the oropharyngeal airway
167. A 44-year-old woman has a partially obstructed airway from a piece of chicken. She is found awake, alert, and oriented, leaning over the dinner table, as the position affords her the most comfort. Although the woman has adequate air exchange, the airway could become totally obstructed. If the airway becomes obstructed, you can remove the bolus of food by:
a. Administering the Heimlich maneuver until the airway clears*
b. Giving back blows until the woman coughs up the obstruction
c. Performing a Safar maneuver
d. Visualizing the airway and removing the object with your fingers
168. Hemorrhagic shock is divided into four categories depending on its severity. Class I hemorrhage corresponds to ________% blood volume loss

Your answer:

A  25

B 15*

C 20

D 30

169. A 32-year-old female patient has amputated her index finger in a table saw accident. You have bandaged her hand. The best way to transport the amputated finger is by:

A) placing the finger directly on ice

B) wrapping the finger well in an occlusive dressing

C) placing the finger directly in sterile saline

D) d. wrapping the finger in gauze, placing it in a plastic bag, and keeping it cool*

170. You are caring for a 36-year-old, conscious, male patient involved in an altercation in a bar. His face was beaten with a pipe and he has an open soft tissue injury to the left side of his face. It would be save to assume from this injury that the patient also has a

A) pelvic injury

B) lower extremity injury

C) neck injury*

D) lumbar injury

171. Your 64-year-old female patient has slipped on the ice and you suspect a pelvic fracture. This type of injury is very serious, because

A) a pelvic injury is very painful

B) internal organs, blood vessels, and nerves may be injured*

C) a pelvic injury is difficult to stabilize

D) the patient cannot be log rolled

172. A patient is admitted to the emergency department with deep partial-thickness burns over 35 % of the body. What IV solution will be started initially?
A. warmed lactated Ringer's solution*
B. dextrose 5% with saline solution
C. dextrose 5% with water
D. normal saline solution
E. 0.45% saline solution

173. A patient with third-degree burns is being treated with high-volume intravenous fluids and has a urine output of 40 cc per hour. The nurse realizes that this urine output
A. is normal for this patient.*
B. provides evidence that the patient is dehydrated.
C. provides evidence that the patient is over-hydrated.
D. is indicative of pending renal failure.
174. On a scene – traffic accident (truck hit head-to-head the school bus). There are about 25 victims. One of them is a teacher – conscious, pale skin, gasping air, holds her chest on a right side. Physically: tachycardia, tympanic sound over the right side of the chest, the intercostal space is extruding on the right side. Tag her with proper color.

(a) Red*

(b) Green

(c) Blue

(d) Black

(e) Yellow

175. On a scene – traffic accident (truck hit head-to-head the school bus). There are about 25 victims. One of them is a teacher – conscious, pale skin, gasping air, holds her chest on a left side. Physically: tachycardia, tympanic sound over the left side of the chest, the intercostal space is extruding on the left side. What is your prior diagnosis?
a) Flail chest
b) Open pneumothorax
c) Tension pneumothorax*
d) Heart tamponade
e) Massive hemathorax 
176. On a scene – traffic accident (truck hit head-to-head the school bus). There are about 25 victims. One of them is a teacher – conscious, pale skin, gasping air, holds her chest on a right side. Physically: tachycardia, tympanic sound over the right side of the chest, the intercostal space is extruding on the right side. Which category will you put her in?

a) Immediate*

b) delayed

c) expectant

d) minimal

e) morgue
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